ExamsLand provides 100% free IBM C5050-380 practice questions and answers in pdf. Instant access.

IBM

Exam C5050-380

IBM Cloud Platform Solution Architect v2

Version: 8.0

[ Total Questions: 63 ]



ExamsLand provides 100% free IBM C5050-380 practice questions and answers in pdf. Instant access.
IBANM CENEN 22N - Dractinra TAact
A4 L rQAaAviiIve LA

TOTVT AAA~ARA~A~

Question No : 58

What can be deployed into an IBM Cloud environment to provide on-demand encryption,
key management and key storage as a service?

A. IBM Cloud HSM

B. Citrix Netscaler

C. Symantec Secure Site

D. Fortigate Security Appliance

Answer: A
Explanation: References:

Question No : 59

What factor has a significant impact on the split of responsibilities between the customer
and the provider to manage security and associated risks?

A. Workload and applications running on the cloud

B. Service level agreement between the provider and the customer

C. Security level required by the customer for cloud capabilities

D. Category of cloud service offered by the provider (laaS, PaaS or SaaS)

Answer: A

Question No : 60

What are the three main types of storage options typically find in an Infrastructure as a
Service (laaS) cloud environment?

A. File storage, NFS storage, and CIFS storage

B. Block storage, SSD storage, and Swift storage

C. Block storage, object storage, and file storage

D. Storage Area Network, SAS storage, and SATA storage

Answer: C
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Question No : 61

How can access to legacy data in a cloud environment be provided?

A. Implement a two-tier strategy

B. Implement a firewall pass-through

C. Implement a hybrid cloud solution

D. Implement the same hypervisor in both locations

Answer: A

Question No : 62

What two IBM Cloud public infrastructure options allow clients to deploy demanding
bandwidth-intensive workloads? (Select two.)

A. Single vendor DDoS protection

B. Metered inbound bandwidth for public network

C. IPv6 transport using Elastic Load Balancers

D. Direct Link Dedicated Hosting

E. IBM Cloud Bare Metal Servers with port speeds up to 10Gbps

Answer: C,D

Question No : 63

What would be the effect of selecting cloud storage with insufficient IOPS?

A. Automatic scaling from block to file storage

B. An application bottleneck which will degrade performance

C. A need to provision more virtual machines to cope with the deficit

D. The fast consumption of storage, leading to a need to frequently provision more

Answer: B
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